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M(H)=1 g/mol . M(C)= 12 g/mol . M(O) =16 g/mol , M(N) = 14 g/mol

p( C;H40,) = 1050 g/L.
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MM,  4,1.0,1

=10,25m/s (2.56 ¢cm)

VT T T2.002
. v, MM, 8601 11.6m/s (2.90 cm)
: 2t 2 .0,02
MM, 5.6.0,1
V5= a0 o 0.02 =14 m/s (3.5 em)
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M(NH;) = M(N) + 3M(H) (01)
M(NH;) = 14 +(3.1)=17 g/mol

NH; (5 0.68 g (o853l S 2

m(NH,)
M (01)

0.68
n(NH;y) = 17 0.04 mol

n(NH,)=
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15.68
n(NH,) = m =(.7 mol

n(NH_;) =
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m(NH;)  V(NH;)

M(NH;)  Vy
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m(NH;)= =68¢g
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M Ny Na (01)

, 17.3,01.10%
m(NH;3)=—"—""55
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M(C;H40,) = M(C) + 3M(H) + M(C) + 2M(O) + M(H)
M(CHO,)=12+(3. 1)+ 12+ (2.16) + 1 =60 g/mol (01)
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.V(C,H,0,
n(C,H,0,)= p#M";)

1050.0.2
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60 3.5mol
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